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“Grundriss Erdgeschoss

Neubau von 2 Wohnhausern mit je 8

1359,

| 80 4

2.40
2.30

6.29
7.00

2.30

| 100 | 66° |

2.93

2.37%

1359,

2.30
2.00

, 1.00 |

16.615

1.17%

24

L

1.18

1.52

6.00
20.00

L

24

+

1.17%

2.00

2.30

usjjeysqy

425

1.00
1T 230 1

95°

6.71
6.00

2.40

8.04 m?

88°
WAl.: 7.92 m?

2.13%

()
L
(5]
= " %
T rE: EEEE EEEE EEEE e E 2
L N I o N I o T o N N[N [N NN N[N [N N N[N [N (N [7)]
< ElEIE|IE|E ElEIE|IEE ElEE|E ElEE|E v g o
) N~ || o™ oo™ © |0 | N~ 0 (W[~ v ®© 3lc
QO ITIQZII¥INYIQOTI9QZI9 XX QMNP O 0 IMIMINID I~ O g @2
S 6 c@ SN T4 g|mwo® TSN G KNI4S200 T o Ikiffeen s B o
7)) N~ NN~ OOMN I~~~ NNMNTOMOONMNN|I~ T~ NO|—O| O N|v~ |~ |NOO|v—|©O| © ™ e.m
s o [N (N L I B T S T | (o0 T o T B T B R N N[N N N TA
o |2 ElEIE|lL ||| E|E|E|E IE|L ||| EIEIEE|IE|L || E EIE|E|L ||| E 2
= @) [©) c
< wlo o EEEECnwolxEEEES clwooo EEENSR wlolo EEIE|C|R 2
[}
O |.@m Mo NN N =000 0NN N D ON~NNGD S N®O s |NWOD S N®©(g ] o 2
AN | == W ool eYN g FIvm ol N oo <t SR IO |0 |20 Q || ] =l
WF Nl |~ |Oo|N+~ MmN N~ |~~~ N® N|~|+—|00|— ||+~ N|v~ |~ |0 |0~ ||~ E o o 3
] < i
ge] D g
el c c c c . c 3
]
1] 2 o Q o 2 NeB
) D
7 7 7] » e =
£ w c w c w c w c 5 &3
c|c oo clc ol clc [O) c|lc [0)
O | o SARSARS CAESIR RS Q5|9 S oo Q0 ARSARS Q0 2 g5 &
o Y= 4= == un Y= | u—= =|-=|un Y= | v= = = | u= =\ un m
= E| |El&m& L0 g |ET O 22 gl E|&|m 2 © E o 2l ® il
L © 6|S|€| Q8|5 0 Xt 6|S| € 9|5 0 Xt sl€|€|9|5 @ & 5|S|€|T 5 @t ® Mgn
Z Eaaac e Eaaail<e =i 6aEe SRR Sle e
> ®
I IS
© © N~ N~ \| 5 =
. . .. .. >~ T < 2
mu v v (T T N[N NN NN NNNOO®OOmmn O |3 (3|3 (3 |3 (3| < i) Lo &
= o D DD D DD DD DD DD DD DD D DD DD DD O | DD D D D DD O &
c c|lcjcjcjcjlcjcjlcjlcjcjlclcjcjcjlcjcjcjlcjlccjlc|lc|jc|c|c C c|lclcjlc|lc|c|c c o
>3/ 3|33 3] 3]l 3 ||| o o)
< clc|c|lc|c|c|c|c|c|c|c|c|c|lc|lc|lc|c|c|c|c|c|c|c|lc|lc| € |c|lc|c|lc|c|c|c| c 2 <
o) clcjlclc|lclcc|c|c|lc|lc|lc|lc|lc/c|lc|c|c|c|c|c|lc|lc|l€c/€|l € |€lc|c|c|c|c|c| <€ S >
6/0|6|6/o|o|o|o|o|o|o|o|o/o|o|o|o|o|ojo|o|o/c|o|o| ©  o|lolcjlo/olo|jo| o & -~ |0
= 222222222222 2222222 2222222 2222222 i £
0002
e e
sl6Y 1 1104 1
L
0Zy vd cl9Z
0eT , e L 0T
00 1 oo 1 66') T 001
HHHHHHHH e e e R A A ey, (VU A
A ; , ,
\\\\\\\\\\\\\\\ N | J
““““““““““““““““““ — EE
o« U £t 1
3| @& UHHHHHHHHHHHHHH , c 0o - NN
S T T e s EE EE
\\\\\\\\\ | L] w7 - o ©
@ 5 .= o c Q¢ Qe
3 %2 g °° Se¢
5 ..E £ Z
~ 8 8 €I B L2 5 <&
© © “ © o o
o mrv,mwa,
= ©
F JE: S : aad Frt
g|8 fgs NP © [ | |78 S
- | S o~ P EE i [ SN
e N« S N <] = i
- 5 2 . \ : £t 8.8
S <= S g 83 = <=
2 <28|S CINIE R NN
: : 2 oy y %=
o N — s A YZE UM <
g ol s umN o M 62°E | S
S M = Spio EE
. usIfEISqY . ~o
TP & S3
- o M~
- o o @ _%1..‘ A,.Wl
= e EE &
“l 83 L - 83— . — . S IE
— |~ /A\ :anlnA..An
57T
- =
B <= g% ] N
“— |
S| « <~ = 2 o
S| D O ®© REf——
Sl s - 2
N
"o SET o — 6L
EE
"~ 83
o B® —
8|8 g b o0 | T ~
SR e e | | L
= | 2o <= (2] ] o
¥ oeL | | TN e EE
A N N N S8
LT & 5 @~
T LM ° nr/_\w £ =
ONE v T\ 2
N : ~

W 62

L)

= |

, 1.00 |

1359,

1.

1] A:

Abstelle)
A:
Wfl.: 1.00 m

spl_PuY

7.52 m?
2375

L s€1°C ||
% %

2.20 @ 1715 1,045

~

2.13°
Wil.: 7.41 m?

2.30

| 66° | 1.00 |

6.29
7.00

2.40
2.30

\\\\\\\\\\\\\\\\\

= o oo 8 588 5 S o w
gEE & mom = o L 83 EE
g 293 S 83 3 < d g5
7 8 S I e
o N o oY oS
£ - 5 M1 @O o @ £ 99
S .= o< S =
z <=2 - @ e | 2 <=
S e tE tE R ©
85 - 88 g °°
S ¥s gL s .=
) I 2z @ <=
D 3 <= - PP
] |
1
[
1
[
““““““ | O
0e'z 0eT 0ez
. gﬁ : gﬁ : gﬁ . gﬁ
00 00'L 66'L 00'L
gr gr Aﬁ gﬁ
$0ZY 5GE vZ 5192
)ﬁ
sl6'Yy A

00°0¢

| 80 |
1357,

wwwwwwwwwwwwww




	Pläne
	H2.02 - Grundriss Erdgeschoss


